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Name Date

it @iap Scale

Here is a map of South Africa.

Use a ruler to measure the shortest
distance between cities. Measure

to the nearest 1; inch. Use the map
scale to convert these measurements
to real distances.

Pretoria

69

Johannesburé

Upington
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@ Durban
LESOTHO 7
SOUTH AFRICA \_/

Queenstown
a

ast London T 1
0 100 200 mi

Cape of Good Hope 1 inch represents 200 miles
Citie Measurement Real Distance
> on Map {inches) (miles)
4.| Cape Town and Durban
2.| Durban and Pretoria
| R B
3.| Cape Town and Johannesburg
I IR
4.1 Johannesburg and Queenstown
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5.| East London and Upington
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